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1. If(14x)"=Co+ Cix + C3x% +... + Cx™, then the value of Cy +2C1 +3C3 +... + (n + 1)C,, will
be
a)(n+2)2"!
b) (n+ 1)2"
c)(n+ 1)2"!
d) (n+2)2"

n
In the expansion of (x3 — lz) ,n € N, if the sum of the coefficients of x° and x'° is 0, then n =
X

a) 25 b) 20 c) 15 d) None of these

3. Inthe expansion of (1 + x + x% + x3)®, then coefficient of x1*is

a)130 b)120 c) 128 d)125
4. The 14th term from the end in the expansion of (\/E — \5)17 is
d) None of these

) et (—B) B UGGy ) ey )

5. The sum of the coefficients in the expansion of (14 2x+3x%+ ..+ nx")2 is

a)zl b)zn c)an d)zn3

6. If a is the coefficient of x* in the expansion of (1 + x + x?)" for k = 0, 1,2, ..., 2n then
.3n

a) — ao b) 3" ) n- 3+l "

7. The coefficient of x™ in the polynomial (x + ™Co)(x + 3™C1)(x + 57"C,)..[x + (2n + 1) "C,]

a)n.2" b)n.2"t! c) (n+1)2" d)n2"+1
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n=2C, +2"2C,_1 + "2C,_zequals

n—lC
a) n+1CT b) nCT C) nCr+1 d) r
For |x| < 1, the constant term in the expansion ofm is
a) 2 b)1 c)0 1
d 2
a\s
Coefficient of x in the expansion of (xz + ;) is
10
a) 9a? b)10a° ¢) 102 )
1 1 1 ) |
E+2!(n—2) i +4!(n—4) i + ..isequal to
271—2
2n—1 2n n I—
a b)—— ) dn-1)!
kS VoD )2 -1
The greatest coefficient in the expansion of (1 + x)19, is
10! 10! 10! d) None of these
a)—— b) 2 ) =
516! GhH 5171
In the expansion of (g + bx)lz,the coefficient of x~° will be
12 11b11
a) 124! b)12b'la ¢) 12alb 4
The coefficient of x'° in the expansion of (1 + x? — x3)8, is
a)476 b) 496 c) 506 d)528

21
b
If the (r + 1)™ term in the expansion of {3\/% + \/%] contains a and b to one and the same

power, then the value of 7, is
a)9 b)10 c)8 d)6

The (r + 1)th term in the expansion of (1 — x)~* will be

x" r+DE+2)(T+3) .,
a) F b) 6 X

(r+2)(r+3) d) None of these
€)————=x
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13 1-3-5
Ify=%+ﬁ+m+..., then the value of y> +2 y is

a)2 o d) None of these

b) —2
LetS(k) =143 +5 + ... + (2k — 1) = 3 + k? Then, which of the following is true?
a) S(1) is correct

b)S(k)=S(k + 1)

c)S(k)y»S(k+ 1)

d) Principle of mathematical induction can be used to prove the formula

The number of irrational terms in the expansion of (51/6 + 21/8)100 is

a) 96 b)97 c) 98 d)99

If the rth term in the expansion of (x/3 — 2/x2)10 contains x*, then r is equal to
a) 2 b)3 c)4 d)5



